Y6 Sp10 YEAR 6 - SPRING TEST 10
First Name Class
Last Name Date
MARKS /34
1 1
1] 2%¢° 2 8364 - 4 =
3 | 400 x 100 = 4 -01=05
5 | 7465= x5 6 =2734x9
7 | 10% of 470 = g | 6°=
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x5=38+32

29-(5+2)=

9 10

11| 7.3647 x 1000 = 2| 3+3-

13 %, X é = 14 10% of 340 =

15 °=8 16 %Of 56 =

17| 5% of 120 = 18 = 740.3 - 29.40

%

1 mark

1 mark
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19 20% of 130 = 20 6.78 = 82.1 -
21| 7465 + 26 + 402 029 = 2o | TA7=124-
23 24
413 7 2 4 3 4|15 2 7 0

%

Arithmetic Practice Tests YEAR 6 © Popcorn Education 2016




o5 | 6=1998 + 26 | 5000 - 2738 =
>7| 7000 - = 3748 28 = 15% of 180
2 30
7 9 0 3 7 4 5 6
X 2 6 X 7 3

%

2 marks

2 marks
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